3GPP TSG-SA WG1 Meeting #66
S1-141237
Sapporo, Japan, 12-16 May 2014
(revision of S1-14xxxx)
Title:
Aligning the General Group Call section with GCSE Terminology and clarifying roles of “UE” and “User” in MCPTT Requirements
Agenda Item:
7.2
Source:
NSN
Contact:
Juergen.merkel(at)nsn.com 
Abstract: This paper aligns the General Group Call Section  of MCPTT with GCSE_LTE terminology and clarifies it is not the UE but the user who is a member of a group. 

4.3
General Group Call

The MCPTT Service shall provide a mechanism by which a Group Member can initiate Group Communication to any GCSE Groups it is member of.

The MCPTT Service shall provide a mechanism by which a Group Member can determine the GCSE Groups it is member of.

The MCPTT Service shall provide a mechanism by which a Group Member for the GCSE Groups it is member of can determine the ones currently transmitting .

The MCPTT Service shall provide a mechanism by which a Group Member can determine what GCSE Groups have at least one Receiver Group  Member, as authorized.

The MCPTT Service shall provide a mechanism by which a Group Member can determine that a number (N1) of Receiver Group Members are present for a GCSE group, as authorized.

The MCPTT Service shall provide a mechanism by which a Group Member can determine that a particular Group Member is a Receiver Group Members of that GCSE Group, as authorized.

The MCPTT Service shall provide a mechanism by which a MCPTT Administrator, from any location, may define the membership of a GCSE Group.

The MCPTT Service shall allow the MCPTT Administrator to designate specific GCSE Groups to be inaccessible to certain 
other users, including dispatchers or supervisors.



The MCPTT Service shall assign alphanumeric identifiers to users (with a minimum length of N3) (aka Alias ID) to be presented to the Receiver Group Members during Group Communication.

The MCPTT Service shall provide a notification, for example audio and/or visual, to the Transmitter Group Member if there are no Receiver Group Members on a GCSE Group.

The MCPTT Service shall provide the list of Receiver Group Members on a GCSE Group to a user authorized to request this list. 


The MCPTT Service shall provide the list of Group Members of a GCSE Group to a user authorized to request this list.




The MCPTT Service shall provide a mechanism to prioritize, dynamically and in real-time, GCSE Groups in relation to other GCSE Groups (with respect to transport and presentation).

The MCPTT Service shall provide a mechanism to prioritize, dynamically and in real-time, GCSE Groups in relation to other traffic (with respect to transport and presentation).

The MCPTT Service shall provide a mechanism to organize GCSE Groups into a hierarchy(ies) i.e. GCSE Groups can be Group Members of other GCSE Groups. 

The MCPTT Service shall provide a mechanism to prioritize GCSE Group calls based on the properties associated with elements of call (e.g., service type, requesting identity, and target identity).
�Aligning the requirements with the terminology of GCSE_LTE and attempting to avoid assignment of functions to e.g. the UE.


�A group inaccessible to others does not make much sense, a group inaccessible to some may make sense (some still allows all others...), but isn’t this what group membership already provides?


�Isn’t that basically expressing the same what group membership is all about?


�The shouldn’t be a standalone group membership of a UE, isn’t it always the membership of the user the UE “inherits”?


�See comment above





